MULTIPLICACIONES

1. Escribe en forma de multiplicacion y resuelve:

a) 5+ 5+ 5+ 5 + 5 b) ssit 4 ant ant sn+ oan
&7 @67 @2 ; & L . s : X s
“‘0 Fd Fé ‘0..60 ‘Cl
5+5+5+5+5 es igual a 5x5=25 __veces __esiguala_x_=__
c) Y%+ %+ % + 90+ 8P 1P 9P d)$3:33+33+33:33+33:33:33
__veces __esiguala_x_=__ __esiguala_x_=__
2. a) b)
5 10 6
AN A NP NS tT AW T Y.
x2 x4 x3 x5 x3 x7 x3 x1
3. 32 56 72 44 67 91 86
X 2 X 4 X3 x5 X8 X 4 X9
521 153 204 187 532 894 101
X3 X2 X5 X9 X 6 X5
252 423 525 611 551 105 561
X7 X3 X8 x7 X9 X8 X 2
3210 4152 2342 6262 1871 5245 3654
X2 X 9 X 5 x 9 x5 X 8 X 6
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